SL Paper 3

An optic fibre of length 185 km has an attenuation of 0.200 dB km™". The input power to the cable is 400.0 yW. The output power from the cable must

not fall below 2.0 pW.

a. An optic fibre of refractive index 1.4475 is surrounded by air. The critical angle for the core — air boundary interface is 44°. Suggest, with a [3]

calculation, why the use of cladding with refractive index 1.4444 improves the performance of the optic fibre.

b.i.Calculate the maximum attenuation allowed for the signal. [2]
b.iiAn amplifier can increase the power of the signal by 12 dB. Determine the minimum number of amplifiers required. [2]
b.iiiThe graph shows the variation with wavelength of the refractive index of the glass from which the optic fibre is made. [2]

refractive index

I T -

An Ag wavelength

Two light rays enter the fibre at the same instant along the axes. Ray A has a wavelength of A5 and ray B has a wavelength of Ag. Discuss the
effect that the difference in wavelength has on the rays as they pass along the fibre.

c. In many places clad optic fibres are replacing copper cables. State one example of how fibre optic technology has impacted society. [1]

Communication signals are transmitted through optic fibres using infrared radiation.

a.i. State two advantages of optic fibres over coaxial cables for these transmissions. [2]

a.ii.Suggest why infrared radiation rather than visible light is used in these transmissions. [1]



b. A signal with an input power of 15 mW is transmitted along an optic fibre which has an attenuation per unit length of 0.30 dB km™'. The power [2]

at the receiver is 2.4 mW.
Calculate the length of the fibre.

c. State and explain why it is an advantage for the core of an optic fibre to be extremely thin. [2]

A ray of light travelling in an optic fibre undergoes total internal reflection at point P.

P cladding

caore

The refractive index of the core is 1.56 and that of the cladding 1.34.

The input signal in the fibre has a power of 15.0 mW and the attenuation per unit length is 1.24 dB km™.

a. Calculate the critical angle at the core—cladding boundary. 1]

b. The use of optical fibres has led to a revolution in communications across the globe. Outline two advantages of optical fibres over electrical [2]

conductors for the purpose of data transfer.

c.i.Draw on the axes an output signal to illustrate the effect of waveguide dispersion. [1]
power,
time
input signal output signal
c.ii.Calculate the power of the output signal after the signal has travelled a distance of 3.40 km in the fibre. [3]
c.iiiExplain how the use of a graded-index fibre will improve the performance of this fibre optic system. [3]

This question is about optical fibres.

a. State what is meant by material dispersion. [3]



c. () The signal shown below is fed into a monomode optical fibre. [3]

voltage

time
On the diagram above, show the effects of material dispersion on the input signal by drawing the shape of the signal after it has travelled a long
distance in the optical fibre.

(i) State and explain how the effects on the signal drawn in (c)(i) may be reduced.
e. The data in (d) are confidential and must be protected. Without taking financial costs into account, outline whether a direct optical fibre [2]

connection or a transmission through a geosynchronous satellite would be more suitable for the transfer of these data.

Two converging lenses placed a distance 90 cm apart are used as a simple astronomical refracting telescope at normal adjustment. The angular

magnification of this arrangement is 17.

a. Determine the focal length of each lens. [2]

b. The telescope is used to form an image of the Moon. The angle subtended by the image of the Moon at the eyepiece is 0.16 rad. The distance [3]

to the Moon is 3.8 x 108 m. Estimate the diameter of the Moon.

c. State two advantages of the use of satellite-borne telescopes compared to Earth-based telescopes. [2]

This question is about lasers and diffraction gratings.

(i) Describe the pattern produced on a screen by a red laser beam incident on a diffraction grating.

(i) Laser light of wavelength 632 nm is incident on a diffraction grating having 600 lines per mm. Determine the angular separation between the first
and second order maxima.

This question is about a converging lens.



a. Define angular magnification. [2]

b. A thin converging lens of focal length 4.5 cm is to be used as a magnifying glass. The observer places the lens close to her eye. The least [5]

distance of distinct vision is 24 cm.

(i) Show that the distance of the object from the lens is 3.8 cm.

(i) Determine the angular magnification produced by the lens.

c. Suggest two reasons why, for high magnifications, a combination of lenses is used rather than a single lens. [2]

This question is about properties of electromagnetic waves.

a. State two properties that are common to all electromagnetic waves. 2]

b. Asingle lens is used to form a magnified real image of an object. Explain, with reference to the dispersion of light, why the image has coloured  [3]

edges.

This question is about optic fibre transmission.

a. Explain, with reference to the critical angle, what is meant by total internal reflection [3]

b. In an optic fibre the refractive index of the core is 1.62. The refractive index for the cladding is 1.50. Determine the critical angle for the 2]

boundary between the core and the cladding.

c. State one effect of dispersion on a pulse that has travelled along an optic fibre. (1]

This question is about a magnifying glass.

a. (i) Define the angular magnification of a magnifying glass. [4]
(ii) Derive an equation for the angular magnification of a magnifying glass with the image at infinity.
b. An object is positioned 8.00 cm from a magnifying glass of focal length 15.0 cm. [4]

(i) Calculate the position of the image.
(ii) Calculate the linear magnification.

(iii) The image is upright and magnified. State a further property of the image.



This question is about an astronomical telescope.

The diagram (not to scale) shows the arrangement of the two convex lenses in an astronomical telescope in normal adjustment.
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The telescope is used to observe a distant star. One of the focal points of the eyepiece lens is labelled FE.
On the diagram above,
a. () label, with the symbol FEg, the position of the other focal point of the eyepiece lens. [5]

(i) label, with the symbol F{y, the position of the focal point of the objective lens that is in between the two lenses.

(i)  construct rays to locate the final image of the star.

b. In a particular astronomical telescope, the eyepiece lens has a power of 40 dioptres and the objective lens a power of 0.80 dioptres. Determine [2]

the angular magnification of the telescope in normal adjustment.

c. In an astronomical telescope the objective is often made up from a diverging and a converging lens, whereas the aperture of the eyepiece is [2]

usually restricted such that only rays close to the principal axis are viewed. State the reasons for this.

Objective lens:

Eyepiece lens:

A lamp is located 6.0 m from a screen.

6.0m
< >
lamp screen

Somewhere between the lamp and the screen, a lens is placed so that it produces a real inverted image on the screen. The image produced is 4.0
times larger than the lamp.

a. Identify the nature of the lens. (1



b. Determine the distance between the lamp and the lens. [3]

c. Calculate the focal length of the lens. 1]

d. The lens is moved to a second position where the image on the screen is again focused. The lamp-screen distance does not change. Compare [2]

the characteristics of this new image with the original image.

An astronomical telescope is used in normal adjustment. The separation of the lenses in the telescope is 0.84m. The objective lens has a focal length

of 0.82m.

a. Calculate the magnification of this telescope. [2]
b. Outline why sign convention is necessary in optics. [1]
c. A student decides to reverse the positions of the same lenses without changing the separation to form an optical microscope in normal [6]

adjustment. The student’s near point is 0.25 m from her eye.

(i) Show, using a calculation, that the image formed by the objective lens is about 0.19 m from the eyepiece.
(ii) Calculate the distance between the objective lens of the microscope and the object.

(i) Determine the overall magnification of the microscope.

This question is about a converging (convex) lens.

A small object is placed a distance 2.0 cm from a thin convex lens. The focal length of the lens is 5.0 cm.

b. (i) Deduce the magnification of the lens. [5]
(ii) State and explain the nature of the image formed by this lens with the object at this position.

c. The object is coloured and the image shows chromatic aberration. Explain what is meant by chromatic aberration. [2]

d. Describe how the effects of chromatic aberration may be reduced. [1]

This question is about convex lenses.

A convex (converging) lens is used to project an image onto a screen. The focal length of the lens is 10 cm. The object is placed at a distance of 15

cm from the centre of the lens on the principal axis.



Another object, as shown, is positioned so that the centre of the object lies on the principal axis of the lens. The object is normal to the principal axis.

The lens has not been corrected for spherical aberration.

The diagram shows what would be seen on the screen if the lens produced no aberrations in the image.
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a.iiildentify the nature of the image. [1]
b.i.The lens is covered with a wide aperture. Using the diagram, sketch the likely appearance of the image if the lens produces spherical [2]
aberrations.
b.iiOutline why reducing the size of the aperture will reduce the effects of spherical aberration. [2]

This question is about a converging (convex) lens.

Anna is unable to read small print in a newspaper. She uses a convex lens to read text more easily. Anna looks through the lens at an arrow on the
page.
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a.i.On the diagram, construct rays to locate the image of the arrow. The focal points of the lens are labelled F. [3]
a.iiAnna places a screen at the image position. Outline why she cannot see an image on the screen. [2]

b. Anna uses the same lens with an illuminated object. She finds that a clear image of the object is formed when the lens is placed a distance of  [3]

20 cm from the screen. The lens has a focal length of 5 cm. Determine the magnification of the image.

This question is about optic fibres.

An optic fibre consists of a thin glass fibre surrounded by a cladding material. The refractive index of the glass is 1.62.

a.i.Calculate the critical angle for this optic fibre. (1]

a.ii.The diagram shows a straight optic fibre. Sketch the passage of a ray of light through the fibre. [IN/A

edge of optic fibre

b. The input power to the fibre is 150 mW. The attenuation per unit length of the glass fibre is 12.0 dB km~!. When the light has travelled a [2]

distance [ its power has fallen to 3.00 mW, at which point amplification of the signal is required. Determine [.

Optical fibres can be classified, based on the way the light travels through them, as single-mode or multimode fibres. Multimode fibres can be

classified as step-index or graded-index fibres.

a. State the main physical difference between step-index and graded-index fibres. [1]

b. Explain why graded-index fibres help reduce waveguide dispersion. [2]



This question is about the nature and properties of electromagnetic waves.

a. Electromagnetic waves propagating in a medium suffer dispersion. Describe what is meant by dispersion.

b. A charge moves backwards and forwards along a wire, as shown in the diagram below.
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Outline, with reference to the motion of the charge, why electromagnetic radiation is produced by the moving charge.

This question is about digital transmission and optical fibres.

Pyignal
Pooise

A digital signal is to be transmitted along an optic fibre. The signal to noise ratio (that is10l g

The following data are available.
Attenuation per unit length of the optic fiore = 2.6 dBkm™!
Power of the input signal is Pyjgna1 = 88 mW

Noise power in the fibre is constant at Pyoise = 52 pW

a. State what is meant by attenuation.

b. () Determine, using the data, the greatest distance the signal can travel before it must be amplified.

(i)  The optic fibre has a total length of 5600 km. The total transmission time along the length of the fibre is 28 ms. Estimate the refractive

index of the core of the fibre.

) in the fibre must not fall below 35 dB.

(2]

(2]

(1]

(5]

Spherical converging mirrors are reflecting surfaces which are cut out of a sphere. The diagram shows a mirror, where the dot represents the centre of

curvature of the mirror.

a. Aray of light is incident on a converging mirror. On the diagram, draw the reflection of the incident ray shown.

2]
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b. The incident ray shown in the diagram makes a significant angle with the optical axis.

(i) State the aberration produced by these kind of rays.

(ii) Outline how this aberration is overcome.

This question is about optic fibres.

a. State one advantage of the use of an optic fibre rather than a coaxial cable for the transmission of information.

b. Suggest why, in transmitting information in an optic fibre, infrared electromagnetic radiation rather than visible light is used

c. Asignal is fed into an optic fibre of length L.

e

input

Piignal
The noise power at the receiver is Pjgise=4.2 YW. The signal to noise ratio (z e.10log Pg__l ) at the receiver must exceed 25 dB.

optic fibre

receiver

(i) Show that the minimum signal power at the receiver is 1.3 mW.

(ii) A signal of power 25 mW is input to the optic fibre. The attenuation per unit length of the optic fibre is 0.30 dB km~"'. Determine the maximum

length L of the optic fibre.

The diagram is a partially-completed ray diagram for a compound microscope that consists of two thin converging lenses. The objective lens L has a

focal length of 3.0 cm. The object is placed 4.0 cm to the left of L4. The final virtual image is formed at the near point of the observer, a distance of 24

cm from the eyepiece lens L.

(2]

(1]

(2]

(4]
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Two converging lenses are used to make an astronomical telescope. The focal length of the objective is 85.0 cm and that of the eyepiece is 2.50 cm.

The telescope is used to form a final image of the Moon at infinity.

a.i. State what is meant by a virtual image. [1]
a.ii.Show that the image of the object formed by L4 is 12 cm to the right of L. [1]
a.iiiThe distance between the lenses is 18 cm. Determine the focal length of L. [3]
a.ivOn the diagram draw rays to locate the focal point of L,. Label this point F. [2]
b.i.Explain why, for the final image to form at infinity, the distance between the lenses must be 87.5 cm. [2]
b.ii.The angular diameter of the Moon at the naked eye is 7.8 x 1073 rad. [2]

Calculate the angular diameter of the final image of the Moon.

c. By reference to chromatic aberration, explain one advantage of a reflecting telescope over a refracting telescope. [2]

The graphs show the variation with time of the intensity of a signal that is being transmitted through an optic fibre. Graph 1 shows the input signal to

the fibre and Graph 2 shows the output signal from the fibre. The scales of both graphs are identical.

Graph 1 — Input signal Graph 2 — Output signal
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a. The diagram shows a ray of light in air that enters the core of an optic fibre. [3]
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The ray makes an angle A with the normal at the air-core boundary. The refractive index of the core is 1.52 and that of the cladding is 1.48.

Determine the largest angle A for which the light ray will stay within the core of the fibre.

b.i.Identify the features of the output signal that indicate the presence of attenuation and dispersion. [2]

attenuUation. . .
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b.iiThe length of the optic fibre is 5.1 km. The input power of the signal is 320 mW. The output power is 77 mW. Calculate the attenuation per unit  [2]

length of the fibre in dB km™™.

This question is about the compound microscope.

a. A convex lens used as a magnifying glass has a focal length of .. Derive an expression for the angular magnification when the image is at the  [3]

near point D.

b. The convex lens in (a) is used as the eyepiece of a compound microscope. [4]
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An object is placed 1.5 cm from the objective lens. The focal length f, of the objective lens is 1.0 cm.
(i) Draw rays on the diagram to show the formation of the intermediate image.

(ii) Calculate the distance of the intermediate image from the objective lens.
c. Lenses used in the compound microscope are subject to spherical aberration and chromatic aberration. [4]

Explain what is meant by
(i) spherical aberration.

(i) chromatic aberration.

This question is about the digital transmission of information.

Digital information that is transmitted along optic fibres is often subject to dispersion due to light taking different paths along the fibre.



e

cladding n=1.41 core n=1.44

In a particular optic fibre of length 2.00x10* m, the refractive index of the cladding is 1.41 and that of the core is 1.44.
Two possible light paths are:

Path A: along the central axis of the fibre.
Path B: the path followed by light that is initially incident on the cladding at an angle just greater than the critical angle.

The speed of light in the core of the fibre is 2.10x108 ms™".

Show that the difference in transmission time between path B and path A is approximately 2.0 ps.

The diagram represents a simple optical astronomical reflecting telescope with the path of some light rays shown.
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a. ldentify, with the letter X, the position of the focus of the primary mirror. [1]
b. This arrangement using the secondary mirror is said to increase the focal length of the primary mirror. State why this is an advantage. [1]
c. Distinguish between this mounting and the Newtonian mounting. [2]
d. A radio telescope also has a primary mirror. Identify one difference in the way radiation from this primary mirror is detected. [1]

This question is about a magnifying glass and a telescope.



A thin converging (convex) lens is used as a magnifying glass. Object O is placed between a focal point of the lens and the centre of the lens. The

focal points of the lens are shown, labelled F.
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The position of the lens in (a) is changed so that a virtual image of the object is formed at the near point of the eye. The eye is very close to the lens.

The lens in (a) has a focal length of 6.0 cm and is now used as the eyepiece of an astronomical telescope. The objective lens of the telescope has a

focal length of 90 cm. The telescope is used in normal adjustment.

a. () Define the term focal point. [5]
(i)  On the diagram, construct rays to locate the position of the image of the object. Label the image I.

b. () Define the term near point. [2]
(i)  Outline the advantage of having the image positioned at the near point of the eye.

c. () State the separation of the objective lens and the eyepiece lens. [3]

(i) Determine the angular magnification of the telescope.

This question is about a convex lens.

The diagram below, drawn to scale, shows a small object O placed in front of a thin convex (converging) lens. The focal points of the lens are shown,
labelled F. The lens is represented by the straight line XY.

X




(i) Define the term focal point.

(i) On the diagram above, construct the paths of two rays in order to locate the position of the image formed by the lens. Label the image |.

i) Explain whether the image is real or virtual.

The diagram shows planar wavefronts incident on a converging lens. The focal point of the lens is marked with the letter F.

X

Wavefront X is incomplete. Point Q and point P lie on the surface of the lens and the principal axis.

a.i.On the diagram, sketch the part of wavefront X that is inside the lens. [1]

a.ii.0n the diagram, sketch the wavefront in air that passes through point P. Label this wavefront Y. 1]

b. Explain your sketch in (a)(i). [2]

c. Two parallel rays are incident on a system consisting of a diverging lens of focal length 4.0 cm and a converging lens of focal length 12 cm. [2]
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The rays emerge parallel from the converging lens. Determine the distance between the two lenses.

This question is about the simple magnifying glass and the compound microscope.

b. A converging lens is used as a magnifying glass. On the diagram draw rays to construct the image of the object, o. [3]



converging lens

c. The lens has a focal length f. When the image is formed at the near point, the distance u of the object from the lens is given by [2]
fD
U= -
D+ f

where D is the near point distance.

Deduce that the angular magnification M is given by

M=1+ D
f
d. A compound microscope consists of an eyepiece lens of focal length 6.0 cm and an objective lens of focal length 2.8 cm. An object is placed  [5]

3.4 cm from the objective lens and the final image of the object is formed by the microscope at the near point.

Determine the
(i) angular magnification of the eyepiece. Take the near point distance to be 25 cm.
(ii) distance from the objective lens of the intermediate image formed by this lens.

(iii) overall magnification of the compound microscope.

A converging (convex) lens forms an image of an object on a screen.



diagram not to scale

object converging lens
screen
a.i.Identify whether the image is real or virtual. [1]
a.ii.The lens is 18 cm from the screen and the image is 0.40 times smaller than the object. Calculate the power of the lens, in cm™, [3]

a.iiiLight passing through this lens is subject to chromatic aberration. Discuss the effect that chromatic aberration has on the image formed on the [3]

screen.

b. A system consisting of a converging lens of focal length F4 (lens 1) and a diverging lens (lens 2) are used to obtain the image of an object as [3]

shown on the scaled diagram. The focal length of lens 1 (F4) is 30 cm.
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Determine, using the ray diagram, the focal length of the diverging lens.

This question is about an astronomical telescope.

A particular astronomical telescope is being used to observe the Moon. The ray diagram shows the position P of the intermediate image of the Moon

formed by the objective lens.

F

Y

rays from
the Moon

objective lens

(not to scale)

eyepiece lens

The telescope is in normal adjustment.



a. On the diagram above, [4]

(i) label with the letter F the two focal points of the eyepiece lens.

(ii) draw rays to determine the location of the final image of the Moon.
b. The diameter of the Moon subtends an angle of 8.7x107 rad at the unaided eye. [4]

(i) Determine the diameter of the image of the Moon formed by the objective lens.

(i) The focal length of the eyepiece is 30 cm. Calculate the angle that the final image of the Moon subtends at the eyepiece.

A magnifying glass is constructed from a thin converging lens.

A converging lens can also be used to produce an image of a distant object. The base of the object is positioned on the principal axis of the lens at a

distance of 10.0 m from the centre of the lens. The lens has a focal length of 2.0 m.

The object is replaced with an L shape that is positioned 0.30 m vertically above the principal axis as shown. A screen is used to form a focused
image of part of the L shape. Two points P and Q on the base of the L shape and R on its top, are indicated on the diagram. Point Q is 10.0 m away

from the same lens as used in part (b).

10.0m

not to scale

a.i. Sketch a ray diagram to show how the magnifying glass produces an upright image. [2]



thin converging lens

a.ii.State the maximum possible distance from an object to the lens in order for the lens to produce an upright image.

b.i.Determine the position of the image.

b.iiState three characteristics of the image.

c.i.On the diagram, draw two rays to locate the point Q' on the image that corresponds to point Q on the L shape.

c.ii.Calculate the vertical distance of point Q' from the principal axis.

c.iiiA screen is positioned to form a focused image of point Q. State the direction, relative to Q, in which the screen needs to be moved to form a

focused imaged of point R.

(1]

2]

(1]

(2]

2]

)

c.ivThe screen is now correctly positioned to form a focused image of point R. However, the top of the L shape looks distorted. Identify and explain [2]

the reason for this distortion.

A ray of monochromatic light enters a graded-index optic fibre.

«— cladding
core
———————————————————————————— central axis
light ray
a. Draw the path of the ray as it travels through the graded-index optic fibre. [1]
b. Explain how the graded-index optic fibre reduces waveguide dispersion. [3]



This question is about an optic fibre.

Monochromatic light enters an optic fibre, from air, along direction A that is at an angle 0 to the axis of the fibre.

— cladding

| T———core

The refractive index of the core is 1.62 and the refractive index of the cladding is 1.52. The critical angle at the core-cladding boundary is 70° .

a. Calculate the greatest angle of incidence 6 that can be used with this fibre.

b. Sketch the path of the light in the core on the diagram above.

This question is about a thin converging (convex) lens.

The diagram shows an object placed in front of a thin converging lens.

(3]

2]

thin converging:lens
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The focal points of the lens are labelled F.

a. (i) Using the diagram, determine the power of the lens. [7]

(i) On the diagram, construct lines to show how the image of the object is formed by the lens.

(iii) State and explain whether the image is a real image or a virtual image.
b. Argus uses an astronomical telescope to observe a telecommunications tower. The height of the tower is 82 m and the distance from Argus to  [3]

the tower is 4.0 km. The image formed by the telescope has an angular diameter of 0.10 rad and is formed at infinity.

(i) Determine the angular magnification of the telescope.

(i) The focal length of the eyepiece is 15 cm. Calculate the focal length of the objective lens.

A ray diagram for a converging lens is shown. The object is labelled O and the image is labelled I.

h
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Using the ray diagram,

a.i.determine the focal length of the lens. [2]
a.ii.calculate the linear magnification. [1]
b. The diagram shows an incomplete ray diagram which consists of a red ray of light and a blue ray of light which are incident on a converging [2]

glass lens. In this glass lens the refractive index for blue light is greater than the refractive index for red light.



red light ray

blue light ray
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converging glass lens

Using the diagram, outline the phenomenon

This question is about an optical microscope.

of chromatic aberration.

A compound microscope in normal adjustment consists of two lenses, an objective lens of focal length f, and an eyepiece lens of focal length f,. The
diagram shows the position of the intermediate image | formed by the objective lens of the microscope.

objective lens

eyepiece lens

a. Construct rays on the diagram to show how the final image is formed.

(2]



b. The intermediate image forms 14.8 cm from the objective lens. The distance between the lenses is 18.1 cm. The focal length of the eyepiece [5]

lens is 3.8 cm.

(i) Determine the distance of the final image from the eyepiece lens.

(i) The angular magnification of the objective lens is x6. Calculate the angular magnification of the microscope.
c. Outline how the effects of chromatic aberration in the microscope eyepiece can be reduced by illuminating the object with light that has a [2]

narrow range of wavelengths.

This question is about light and optical instruments.

A thin converging glass lens has focal length f=0.20m.

a. An object is placed 0.10 m in front of the lens. [4]

(i) On the diagram, construct rays to locate the image of the object, O. The focal points of the lens are labelled F.
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converging lens
(i) Explain whether the image in (a)(i) is real or virtual.
b. The object in (a) is now moved so that it is located 0.40 m from the lens. Calculate [4]
(i) the distance of the image from the lens.
(i) the linear magnification.
d. The refractive index of the glass in the lens is greater for blue wavelengths than for red wavelengths. [1]

The diagram shows two rays of blue light incident on the lens.



On the diagram, sketch the paths of the rays if red light is used instead of blue light.

Both optical refracting telescopes and compound microscopes consist of two converging lenses.

a. Compare the focal lengths needed for the objective lens in an refracting telescope and in a compound microscope. [1]

b. A student has four converging lenses of focal length 5, 20, 150 and 500 mm. Determine the maximum magnification that can be obtained with a [1]

refracting telescope using two of the lenses.

c. There are optical telescopes which have diameters about 10 m. There are radio telescopes with single dishes of diameters at least 10 times [2]

greater.

(i) Discuss why, for the same number of incident photons per unit area, radio telescopes need to be much larger than optical telescopes.

(i) Outline how is it possible for radio telescopes to achieve diameters of the order of a thousand kilometres.
d. The diagram shows a schematic view of a compound microscope with the focal points f, of the objective lens and the focal points f, of the [1]

eyepiece lens marked on the axis.

objective lens eyepiece lens

On the diagram, identify with an X, a suitable position for the image formed by the objective of the compound microscope.
e. Image 1 shows details on the petals of a flower under visible light. Image 2 shows the same flower under ultraviolet light. The magnificationis  [1]

the same, but the resolution is higher in Image 2.



Image 1

Explain why an ultraviolet microscope can increase the resolution of a compound microscope.

The diagram shows a diverging mirror.

mirror
/

o

AN

1cm

Object O has a height of 2.0 cm and is 6.0 cm from the mirror surface. The focal length of the mirror is 4.0 cm and the radius of curvature is 8.0 cm.

a. Construct a ray diagram for object O. Label the image I.

b. Estimate the linear magnification of the image.

c. Outline the advantage of parabolic mirrors over spherical mirrors.

(3]

(1]

(3]



ICroscope.

bout a compound m

onis a

This quest

lens is f,. The object O is placed at

ive

t

jec

. The focal length of the ob

d microscope

In a compoun

lenses

in converging

The diagram below shows two th

a distance u from the objective lens.

o e

o T et

H
e
1
1
H

B s s Bt B
1

e ——

e

—h—t o

e

s St

ettt

B ]

-

R

-

-

bt

e

—
1
.
1
.
1
i
1
.
|
.

[

e EE TR

-

R it s Tt e R

e

e e et Tt

e

L s ot

JR

o

N

-t e
1 1 i R 1
Tt ]
I I i R I
-t F—t-d
1 1 i R R
-t F—kod
Lol -
[ [
-t o
[ [
=t -
1o I
-t e
1 1 i IR 1
e e
| | | IR 11
| IR [ 1
=t it o
| IR [ [
=+ =t =t
| R R 1
et Tt ]
I IR R I
+—t -t F—t-d
| IR IR N
1 R R T
=t -t Fkod
i R R Lo
-t -t |
i IR IR I
=+ =t -1
I IR R I
+—t -t F—t-d
1 IR IR R
i

(8]

is image

a. (i) On the diagram above, construct a ray diagram to locate the position of the image formed by the objective lens. Label th

) Outline whether the image | is real.

(

(6]
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image
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